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27. %7} #o] AB, =4, A,D, =12 A2 28. 233k ol A Fe| Aelrt 1o FAZe] 27|17k T4l
A\B,C\D, oA 7 7] WA S E, olet 3Ak BAZ OAB7} gtk & AB 919 A Pl djs}e]
A,D, =D,E,, 4A2D1E1=%0]1 A% D,C, ¥ AE ALE, °] PA=PC=PD7} 52 & PB ¢ & Co} A% 0A 9ol
A DE Atk A DE Avia A oPsh Fad Yalo]
= s
RhEE A A, E AL B,C =CE,, £B,CE =S ola AR PAS} s HS Eg} 41l ~POA=0< w], 417}
A% D,C, 3} A¥ B,E o] BIEE A B, & Aec) CDP 2] glol& /(0), A7% EDA ] wlel= g(0) =t shak
F A ADE,, By,C\E, < T8 F ap moke] =y 11m%ﬂ ahe? (% 0<o< ) [44]
0—0+
MAste] Qe 23S R, o2 shat
a7 R 94 A,B,: A,D,=4:10]2 A& D,C,7} F A& B C
ALE,, B,E, 3} thlx] 42 A7k ALB,C,D, S 1t}
a9 R 9 A A WeR A A E,y, Ay, By
a7 A ADLE,, ByCE, & 28 F as 2ok 3
o] HAs) Q& 1L B2 S, o
olst L& TS At Al AL 2% R, o Aol
E
A= o HWels S olzk & o, 1im S, o =7 [3%]
0
A g(0)
N Bs 0 D A
1 1 3 1 5
D, C, D - @ — ® = @ - ® -
8 4 8 2 8
A, B, A, B,
E,
D, ¢, D Cy
E, E,
Ay B, A B,
Rl RQ
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29. &5 f(x)=e"+a7} Slth F teol date] A (¢,
A (z, f(@) Aele] A=7b z=sellA] 2 o, A
s g2k Ak g g() o d3E )2t 3 o,
R (1) 9] 3& T3HA L. [44]
Yy
flx)=e"+z
1
/O x

0) =}
f(s)4l
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